



 $A: E \to F, \text{ affine: } A(x) = L(x) + b \text{ with linear } L \text{ and}$ $b \in F$ $\bigwedge (u + b) = \bigwedge (u) + DA(u) (b) + O(10b)$ $\bigcap (a) = L$

・ロ・・西・・ヨ・・ヨ・ うへぐ

$$f(X) = \|X\|_{2}^{2}, \text{ with } X \in \mathbb{R}^{n}$$

$$\|x + k\|_{2}^{2} = \|x\|_{2}^{2} + O(h)(x)(k) + O(h(k))$$

$$\|x + k\|_{2}^{2} = \|x\|_{2}^{2} + 2d \text{ oc}, k + \|B\|_{2}^{2}$$

$$O(h(k))$$

$$P(x)(k) = 2 < x, h > O(h(k))$$

$$P(x)(k) = 2 < x, h > O(h(k))$$

$$P(x)(k) = 2 < x, h > O(h(k))$$

$$P(x)(k) = 2 < x, h > Horefore$$

$$P(x)(k) = 2 < x$$

$$\nabla f(x) = 2x$$

 $R^2 \rightarrow R$ $f(x_1, x_2)=$ not differenhable mar $f(x_1, x_2)=$ $hor h \neq D$ orloro) Example 5 $\frac{h^2}{h^2+h^2}$ R(K, > .

イロン イボン イヨン イヨン 三日

Example 6 exerci se

・ロト・日本・ヨト・ヨー・ つへで

Example 7 exercise

Example
$$f(x) = ||Ax + b||^2$$
 with $A \in M_{m \times n}(\mathbb{R}), x \in \mathbb{R}^n$,
 $b \in \mathbb{R}^m$ $||A(x+b)+b||^2 = ||Ax+b||^2 + Of(x)(b) + Of(bb))$
 $||A(x+b)+b||^2 = ||Ax+b|+Ab||^2 = ||Ax+b||^2 + 2 < Ax+b, Ab > + 4 Ab|^2$
 $\langle A \vec{u}, \vec{v} \rangle = \langle \vec{u}, A^T \vec{v} \rangle + 4 Ab|^2 = ||Ax+b||^2 + 2 < Ax+b, Ab > + 4 Ab|^2$
 $\langle A \vec{u}, \vec{v} \rangle = 2 < A^T (Ax+b), b > + (||Ab||^2 = O((|bb|))$
 $||Ab||^2 = O(||bb|)$
 $||Ab||^2 = O(||b$

Example
$$f(x) = \frac{\langle Ax, x \rangle}{\|x\|_{2}^{2}}$$
 with $x \in \mathbb{R}^{n}$ and $A \in \mathcal{S}^{n}_{x} \neq 0_{\mathbb{R}^{n}}$

$$\frac{\langle A(x+h), x+h>}{\|x\|_{2}^{2}} = \frac{\langle Ax, x, z \rangle}{\|hx\|_{2}^{2}} + 0 g(x)(h) + o(h(h))$$

$$\frac{\langle Ax + Ah, yx+h> = \langle Ax, x, z \rangle + \langle Ax, h \rangle + \langle Ah, yx \rangle + \langle Ah, h \rangle}{\|x\|^{2}} + 2Ax, h \rangle + \langle Ah, yx \rangle + \langle Ah, h \rangle}$$

$$\frac{\langle Ax + Ah, yx+h \rangle = \langle Ax, yx \rangle + \langle Ax, h \rangle + \langle Ah, yx \rangle + \langle Ah, h \rangle}{\|x\|^{2}} + 2\langle Ax, h \rangle + \langle Ah, h \rangle}$$

$$\frac{\langle Ax, x \rangle + 2\langle Ax, h \rangle}{\|x\|^{2}} + 2\langle x, h \rangle + \langle Ah, h \rangle} = 1 - \xi + o(\xi)$$

$$\frac{\langle Ax, x \rangle}{\|x\|^{2}} + 2\langle Ax, h \rangle + \langle Ah, h \rangle}{\|x\|^{2}} + \frac{\langle Ax, h \rangle}{\|x\|^{2}} + \frac{\langle Ah, h \rangle}{\|x\|^{2}} + \frac{\langle$$

Definition of the gradient for a real function $\mathcal{L}(\mathbb{R}^{n}) \subset \mathbb{R}^{n}$

If V is a Hibert space, if f is differentiable the Riesz representation theorem leads to the definition of the gradient of f: ∇f(x) ∈ V

$$\langle \nabla f(x), y \rangle = Df(x)y.$$

 $\nabla f(x)$ is the unique vector associated
with Df(x) by the Ricez theorem
the gadient is also be vector of
fle partial derivation

・ロト ・ 同 ト ・ ヨ ト ・ ヨ ト … ヨ

Definition of the gradient for a real function

If V is a Hibert space, if f is differentiable, the Riesz representation theorem leads to the definition of the gradient of f: ∇f(x) ∈ V

$$\langle \nabla f(x), y \rangle = Df(x)y.$$

▶ Directional derivative of *f* in the direction $d \in \mathbb{R}^n$

$$\lim_{\alpha \to 0} \frac{f(x + \alpha d) - f(x)}{\alpha} = \langle \nabla f(x), d \rangle.$$

$$\int (x + \alpha d) = \int (x) + O[x] (\alpha d) + O(||\alpha d||) \\ = \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \langle \nabla f(x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \langle \nabla f(x) | x d \rangle + O(||\alpha d||) \\ = \int (x + \alpha d) - \int (x) + \int (x) +$$

+ □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >
* □ >

Definition of the gradient for a real function

If V is a Hibert space, if f is differentiable, the Riesz representation theorem leads to the definition of the gradient of f: ∇f(x) ∈ V

$$\langle \nabla f(x), y \rangle = Df(x)y.$$

▶ Directional derivative of *f* in the direction $d \in \mathbb{R}^n$

$$\lim_{\alpha \to 0} \frac{f(x + \alpha d) - f(x)}{\alpha} = \langle \nabla f(x), d \rangle.$$
Direction of descent $d \in \mathbb{R}^n$ of \mathcal{P}

$$\langle \nabla f(x), d \rangle < 0.$$

◆□ ▶ ◆□ ▶ ◆ □ ▶ ◆ □ ▶ ● □ ● ● ● ●

Why is it called a direction of descent ?

 $\frac{f(x+ad)}{g(x+ad)} = \frac{f(x)}{g(x+ad)} + \frac{d(x)}{g(x+ad)} = \frac{f(x)}{g(x+ad)} + \frac{d(a)}{d(x)}$ $\chi \nabla f(h_x)_1 d > + \frac{O(a)}{Q_1}$ 3a07 S.t. #azas LVJ(2),d7+ a(a)<0 g(x+ad) < g(x)xalar function R -> Rg(x) g (a) = f(x+ad) is a |-, x >0 on the interval Jo, xot g(x) < g(0) ◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 - のへで

Definition of the gradient for a function of \mathbb{R}^n in \mathbb{R}

$$\frac{\partial f(x)}{\partial x_{j}} = Df(x)(e_{j})$$

$$j: R \longrightarrow R$$

$$dy_{i} = how not f is nonlonger on an interval E$$

$$dy_{i} = how not f is inverse on T of is inverse of T$$

$$i) f is decreasing on T iff$$

$$i) f is decreasing on T iff$$

$$f = x < y \quad x_{i} \quad y \in I$$

$$f(x) > f(y)$$

Definition of the gradient for a function of \mathbb{R}^n in \mathbb{R}

$$\blacktriangleright \ \frac{\partial f(x)}{\partial x_j} = Df(x)(e_i)$$

► If $V = \mathbb{R}^n$, the gradient is the vector of partial derivatives $\left(\frac{\partial f(x)}{\partial x_j}\right)_{j=1,...n}$.

Definition of the gradient for a function of \mathbb{R}^n in \mathbb{R}

$$\frac{\partial f(x)}{\partial x_j} = Df(x)(e_i)$$

- ► If $V = \mathbb{R}^n$, the gradient is the vector of partial derivatives $\left(\frac{\partial f(x)}{\partial x_j}\right)_{j=1,...n}$.
- A function f : U ⊂ ℝⁿ → ℝ is said to be of class C^k if all its partial derivatives up to order k exist and are continuous on U

Example 1: $f : \mathbb{R}^n \to \mathbb{R}, f(x) = \langle Ax, x \rangle$ A $\in \mathcal{W}_{n}$ < A &+ h), x+ h> = < Ax, x > + < Ax, h> + 2x, Ahz = $\langle A_{x_1} \times 7 + 2(A + A^T) \times h + \chi h, A h \rangle$ = f(x) + < vf(x), h> + a(11Rm) $\nabla f(x) = (A + A^T) x$ if $A \in S_n(R)$ (symetry) shen $\nabla f(x) = 2Ax$

Example 2:
$$f : \mathbb{R}^{n} \to \mathbb{R}, f : \mathbb{R}^{n} \to \mathbb{R}, \qquad \text{expand the sum}$$

$$f(x) = \sum_{i=2}^{n} (x_{i} - x_{i-1})^{2} = (x_{2} - x_{4})^{2} + \dots + (x_{i} - x_{i-1})^{2} + (x_{i} - x_{i})^{2} + \dots + (x_{n} - x_{n})^{2} + \dots + (x_{n} - x_{n})^{2} + \dots + (x_{n} - x_{n})^{2}$$

$$\frac{\partial f}{\partial \alpha_{A}} = \partial (x_{A} - x_{2})$$

$$\int (x_{A} - x_{2}) = \partial (x_{A} - x_{2})$$

$$\frac{\partial f}{\partial \alpha_{A}} = \partial (x_{A} - x_{2}) + 2(x_{i} - x_{in})$$

$$\frac{\partial f}{\partial x_{i}} = \partial (x_{i} - x_{i-1}) + 2(x_{i} - x_{in})$$

$$\frac{\partial f}{\partial x_{i}} = \partial (x_{n} - x_{n-1})$$

$$\frac{\partial f}{\partial \alpha_{n}} = \partial (x_{n} - x_{n-1})$$

Example 3:
$$f(x, y) = \langle Ax, x \rangle + \langle y, Bx \rangle$$

 $A \in \mathcal{M}_{n \times n}(\mathbb{R}), B \in \mathcal{M}_{m \times n}(\mathbb{R}), f: \mathbb{R}^{n} \times \mathbb{R}^{m} \to \mathbb{R}$
Calculate $\nabla_{x} f$ and $\nabla_{y} f$
 $f(x+h, y) = f(x, y) + \langle y|(x, y), h > + \mathfrak{O}(\mathbb{N}, n)$
 $\langle A(x+h), x+h > + \langle y, B(x+h) > = \langle Ax, x \rangle + \langle A, A^{T} \rangle x, h > + \langle Ah, h \rangle$
 $= \langle Ax_{1}x > + \langle y, Bx > + \langle A, A^{T} \rangle x + \langle A^{T} \rangle x, h > + \langle Ah, h \rangle$
 $= \langle Ax_{1}x > + \langle y, Bx > + \langle A, A^{T} \rangle x + \langle B^{T} y, h > + \langle Ah, h \rangle$
 $= \langle Ax_{1}x > + \langle y, Bx > + \langle A, A^{T} \rangle x + \langle B^{T} y, h > + \langle Ah, h \rangle$
 $\int f(x, y) = \langle Ax_{1}x > + \langle y + h, Bx > = \langle Ax_{1}x > + \langle y, Bx > + \langle Ah, h \rangle$
 $= \int (x, y) + \langle Bx, h \rangle$
 $\int y f(x, y) = Bx$
 $\int (x, y) + \langle Bx, h \rangle$
 $\int (x, y) + \langle Bx, h \rangle$

Jacobian matrix definition

E and *F* nvs, dimensions *n* and *m*, bases \mathcal{B} and \mathcal{B}' . Let $U \subset E$ be open and $f: U \to F$, $f(x) = (f_1(x), \ldots, f_m(x))$ differentiable in $a \in U$. $Df(a) \in \mathcal{L}(E, F)$ so there is a unique Jacobian matrix Jf(a), $m \times n$, which represents Df(a) in bases \mathcal{B} and \mathcal{B}' . Let $h = (h_1, \ldots, h_n) \in E$ we have Df(a).h = Jf(a)h. $Df(a) = \begin{pmatrix} Df_1(a) \\ \vdots \\ Df_m(a) \end{pmatrix}, \text{ i.e. } Df(a)h = \begin{pmatrix} Df_1(a)h \\ \vdots \\ Df_m(a)h \end{pmatrix} = J_f(a) \begin{pmatrix} h_1 \\ \vdots \\ h_n \end{pmatrix}.$ The *j*th column vector of $J_i(a)$ is the vector $\begin{pmatrix} UI_1(a)e_j \\ \vdots \\ DI_1(a) \end{pmatrix}$ (with $(e_j)_m = \delta_{jm}$), and $Df_i(a)e_j = \frac{\partial f_i}{\partial x_j}(a)$, or $Jf(a) = (Jf(a)_{i,j})_{\substack{i=1,...,m \ j=1,...,n}} = (\frac{\partial f_i}{\partial x_j})_{\substack{i=1,...,m \ j=1,...,n}}$

◆□ ▶ ◆□ ▶ ◆ □ ▶ ◆ □ ▶ ○ □ ● ○ ○ ○ ○

Relation between gradient and Jacobian matrix $f_i: \mathbb{R}^n \to \mathbb{R} \longrightarrow \nabla f_i \in \mathbb{R}^n$

E nvs, dimensions *n*, base *B*. $U \subset E$ open and $f : U \to \mathbb{R}^m$, $f(x) = (f_1(x), \dots, f_m(x))$ differentiable in $a \in U$.

$$Jf(a) = (Jf(a)_{i,j})_{\substack{i=1,\dots,m\\j=1,\dots,n}} = \left(\frac{\partial f_i}{\partial x_j}\right)_{\substack{i=1,\dots,m\\j=1,\dots,n}} = \left(\begin{array}{c} \nabla f_1(x)^t\\ \vdots\\ \nabla f_m(x)^t \end{array}\right) \stackrel{\text{M. TO US}}{\leftarrow} Columns$$

Taylor formulas at 1st order $\int f(x) dy = f(x) + \langle \nabla f(x), dy + O(100)$

Let $f : \mathbb{R}^n \longrightarrow \mathbb{R}$ differentiable on *S* centered at *x*. For all $d \in \mathbb{R}^n$ t.q. $x + d \in S$ there is $\alpha \in [0, 1]$ t. q.

$$f(x+d) = f(x) + \langle \nabla f(x+\alpha d), d \rangle.$$

$$f(x+\alpha d), d \rangle.$$

$$f(x+\alpha d) = f(x) + \langle \nabla f(x+\alpha d), d \rangle.$$

$$g(x-d) = f(x) + \langle \nabla f(x-\beta d), d \rangle$$

$$g(x-d) = f(x) + \langle \nabla f(x-\beta d), d \rangle$$

$$with \beta \in \operatorname{Jor}(L)$$

Definition : Let *f* be a differentiable function on *V*. *f* is twice differentiable at *a* if there exists a linear map $L(a) : V \to V'$ such that

$$Df(a+h) = Df(a) + L(a)h + o(||h||_V) \in V',$$

where V' denotes the topological dual of V. The second differential of f, denoted $D^2 f(a)$, is the map $L(a) : V \to V'$

Second-order Taylor formula in
$$\mathbb{R}^n \underbrace{\mathcal{Z}}_{\partial \mathbf{x}_i \partial \mathbf{x}_j}^n = \underbrace{\mathcal{Z}}_{\partial \mathbf{x}_i \partial \mathbf{x}_j}^2 = \underbrace{\mathcal{Z}}_{\partial \mathbf{x}_i \partial \mathbf{x}_j}^2 = \underbrace{\mathcal{Z}}_{\partial \mathbf{x}_i \partial \mathbf{x}_j}^2$$

Let $f : \mathbb{R}^n \to \mathbb{R}$ be a twice differentiable function. $\nabla f : \mathbb{R}^n \to \mathbb{R}^n$ is a function from \mathbb{R}^n to \mathbb{R}^n . If ∇f is differentiable we identify $d^2f(x)$ with the Hessian matrix Hf(x), defined by $Hf : \mathbb{R}^n \to \mathbb{R}^{n \times n}$

$$Hf(x) = \left(\frac{\partial^2 f(x)}{\partial x_i \partial x_j}\right)_{i,j=1,\dots,n}$$

Schwarz's theorem: If the function f is twice differentiable, its Hessian matrix is symmetric.

◆□ → ◆□ → ◆三 → ◆三 → ◆ ● ◆ ◆ ● ◆

Relation between Hessian and Jacobian matrices

The Hessian matrix of f(x) is the Jacobian matrix of Df(x)